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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-14 0
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P3-14

BYiE) | GEBATIK () | ERE (EA/H) | EREE(B/R) | XS ERE

06:40 283 150.0 2. 888 RS| FiHAe06:40 KREIEF (KREERE)
07:15 283 150.0 2.888 B5| FnHA@O7:15 KREFEF (REAFEEE)
07:50 283 150.0 2.888 RS ThHA@O7:50 KENFEF (RAfEEER)
08:50 283 150.0 2. 888 M| Fi#Ae08:50 KRENIZF (KREAERHE)
09:35 283 150.0 2.888 fI|  FHA@09:35 KENFEFF (RAIEREE)
10:15 283 150.0 2. 888 M| FiHEAe10:15 REIZF (REAEHE)
10:50 283 150.0 2. 888 M| Fi#Ae10:50 KREIZF (REEHE)
11:25 283 150.0 2.888 m|  FHRe11:25 KREFEF (RAERSE)
12:00 283 150.0 2.888 B ThHA@12:00 KENFEF (RA{EREEE)
12:35 283 150.0 2. 888 RS ThHAe12:35 KEIEF CRAHEERE)
13:05 283 150.0 2. 888 FA| FiHR@13:05 AHIEF (KAEZES)
13:40 283 150.0 2. 888 FA| FHA@13:40 KRENFEF (RAERSD)
14:15 283 150.0 2.888 FA| TiHA@14:15 KRHEF CRAEZRS)
14:50 283 150.0 2. 888 FH| FhHA@14:50 KRENFZF (RATREES)
15:25 283 150.0 2.888 M| FiHfe15:25 KRHIEF (REERSE)
16:05 283 150.0 2. 888 M| FiHAe16:05 KREIZF (REAEHE)
16:55 283 150.0 2.888 ml|  FHERe16:55 RAFEF (REAEZRER)
2it]4811.0 (17%) 2550. 0 3EUHIKEC: 2080.0, PH: 5.8

FEIKRECE (1897.0 vs 4277.0) 45
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P3-14_0, Day=70 (2025-06-09)
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P3-14

BYiE) | GEBATIK () | ERE (EA/) | EREE(B/R) | XS ERE
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09:05 283 150.0 2.888 A5 {Ri%@09:05 B (RFEEREE)
09:50 283 150.0 2.888 RS {Ri%&e09:50 Bz (REERE)
10:30 283 150.0 2.888 BS| 1Ri%e10:30 B3 (GREMEEEE)
11:10 283 150.0 2.888 S| Rige11:10 Bz (REAERSR)
11:50 283 150. 0 2.888 5| {Rige11:50 B3h (KRBERKSE)
12:25 283 150.0 2.888 S| Rige12:25 Bz (REAEHE)
12:55 283 150.0 2. 888 e Rige12:55 Bz (REAERSE)
13:25 283 150.0 2.888 el Rige13:25 Bal (REAEHSE)
13:55 283 150.0 2.888 S| Rige13:55 BHa (REAEHE)
14:25 283 150.0 2. 888 e Rige14:25 Bz (REAERSE)
14:55 283 150.0 2.888 sl {Rige14:55 Ba) (REAEESE)
15:25 283 150.0 2.888 BE| Rige15:25 Ba (REAEHE)
16:05 283 150.0 2. 888 BE| Rige16:05 Bzl (REAEHSE)
17:00 283 150.0 2. 888 el Rige17:00 Bal (REAEESE)
2it] 4811.0 (17%) 2550. 0 3EIUHIKEC: 2080.0, PH: 5.6

MERRNER S STREAERS (184.0 : 150.0), AJEEHF—RZ XA45)
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P3-14_0, Day=69 (2025-06-08)
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23t 3679.0 (13%) 1950. 0 Z i KEC: 2080.0, PH: 5.9
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ZRIAEBRERE150. 0 ml.
FHEKECE (1773.0 vs 3587.0) 45
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